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GENERAL ENGLISH COMPREHENSION

Directions: (Qs. 1 to 10) Aead the following passage carefully and choose the best answer
out of the four choices given after each question that folfows:

Donny was a good bowler, and a good man. He was one of us. He was a man who
loved the outdoors. ... and bowling...., and &s a surfer he explored the beaches of Southem
Califarnia, fram La Jolla to Leo Carrillo and... up to... Pismo. He died, like s0 many young
men of his generation, he died before his time. In your wisdom, Lord, you took him. as you
took so many bright flowering young men at KheSanh, al Langdok, al Hill 364. These
young men gave their lives. And so would Dorny. Donny, who loved bowling. And so,
Theodare Donald Karabolsos, in accordance with what we think your dying wishes mighl
we have been, we commit your final mortal remains 1o the bosom of the Pacific Ocean,

which you loved so well. Good nighl, sweel prince.

1, In this passage, lhe speaker's attitude towards Donny is primarily one of
{a) Moumiul eulogy (b) Unbiased detachment
(¢) Clear hostility (d) Elated noslalgia
2. The speaker's attitude toward bowling can best be described as
(a) Indifference (b) Respect
(c) Disregard (d) Contempt

In context, the tone of “In your wisdom, Lord, you toek him, as you took so many

3.

bright, flowering young men at KheSanh, at Langdok, at Hill 364," Is bes! described

as

(a) Impalient () Baffled

(c) Resigned (d) Ambivalent
4 The speaker’s tone in lhe las! two sentences Is best described as

(a) Irritated (b) Canfused

(c) Curious (d) Saolemn
5 In* as you took so many bright, flowering young men....... " bright most,

| nearly mean .
(a) Light (b) Intelligent
(c) Vivid (d) Dazzling

I020-2=25 Uiks50)
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B. In *to the bosom of the Pacific ocean,” Bosom most nearly means
(a) Chest (b) Column
(c) Comfort (d) Trunk

7. The reference to "KheSanh, at Langdok, at Hill 364" suggests
(@) Donny will be buried at Hill 364
(b) Donny died in combat
(c) The speaker misses these places
(d) The speaker also lost friands al these places

8, Lord relers lo
(a) The king of Hill .364
(b) The Governor of California
() The God
(d). . The President of U.5.A.

B. “Donny was a good bowler, and a good man” s a
(a) Simple sentence
(b) Complex senlence
(c) Compound senlence
(d} Complex-Compound senience

10.  In “He was man who loved the outdoors..... and bowling...," bowling is
(a) Averb (b) Anoun |
(c) An adjeclive (d)  Anadverb

Directions (Q@s. 11 10 15): Read the following passage carefully and choose the best
answer aut of the four choices given after pach question that follows!
the Disney movie The Little Mermaid are

Among the mosl importan! themes In ferm:
those of quegtiuning conventional thinking, and pursuing a dream. Nol only is Ariel, the

litle mermaid demonslrating original thought [snme.l’rllng that many seem to think she is

Qing), b a'IsD she is rebelling against her speciesism father, When Ariel mpr'fsfﬁith',?r
; i | -« furious. When Arel points out angrily that he

love for the human prince, King Trident is furious _ §

does nol undgrslandphar. or even know tha man whom she loves, T_nclemlremns. Know

him? | don't need to know him! He's a human!" In a very real way Disney is gncouraging

children to question preconceived ideas that we may have against a certain group

Disney also teaches children 10 pursue whatl they love. We see that Ariel's Inu: I!ur
Prince Eric is more important than all else. In turning lo the sea Witch, Ursula, for nelp,
Ariel makes a mislake, bul no true hero of heroine is flawless. Ariel puts herself, her
family, and all merfolk in danger, bul we seé that with the help of her prince, she is able to

pul everything righl. L) =Zi=rs) 97‘5{_
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At the end of the e M . id crifice his kingdo
lor his daughter's soul, t@m ' w&g terrifying, waghrir:;

the king's crown and holding his magic frident. She laughs evilly and declares that she is
the ruler of all mermen and women. “So much for true lovel” she screams victoriously.
Eric. however, succeeds in piloling the prow of his ship straight through her belly, vanguishing
her. The moral here is that while we all make mistakes, what is truly iImportant is how we

right the wrongs we m ay do to others.

11, The author's main point in the passage is thal
(a) Ariel should not have been allowed to marry Prince Eric
(by Only Prince Eric truly understood Ariel

(c)  Ariel demonstrated original thought
(d) The Little Mermaid teaches children lo follow their hearts

12,  Why does the author use parentheses around the commen! (Something that
many seem to think she is lacking)
(a) To indicate a side comment lo the reader
(b) To indicate thal it is unimportant
(c) To indicate a humorous tone
(d) To indicate a shift In meaning

13.  Ariel's father is called a *spe:[usiﬁt‘ because he

(a) Does not know Eric
(b) Oppose Ariel's love based only on Eric being human

(c) Does nol understand Ariel
(d) Is furious

Which of the following would best illusirate the assertion made In lines “Disney is
encouraging children to question praconceived ideas thal we may have against a

certain group™?
(a) A movie about the development of the iPod

(b) A movie thal detalls the harrors of war
(c) A movie aboul a girl who overcomes her fear of snakes

(d) A movie thal documents the iravels of a reck band

14.

15 Ursula's quote “So much for true love" primarily suggests that

(@) The marriage was unacceptable to her

(b) Shels mocking true love

() Sheis speciesism,

d Triden! was her lrue love ol o » < 2
° 2020-2-25 U7:50
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16.

17,

18.

19.

20,

21,
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REASONING

Directlons : (Qs. 31 1o 34) Six persons A,
B, C, D, E and F participated in a debate.
Out of the six persons two were ladies; E
and his unmarried sister were new entrants
this year in the debate; husband of D was
winner of last year and participated in this
year's debate; Aand C were runner-up last
year; this year's winner was neither a new
entrant nor winner of last year; B left the
debate in the middle for some unavoidable
reason; al the end of the debate, C secured
more points than A but less than E and F.

On the basis of above informalion
answer the following questions:

31.  Who is the husband of D?
(a) A (b) B
(c) E (d C
32.  Who was the winner last year?
(@ A (by B
(¢ D (dy E
33. Who is the sister of E?
(a) C (b) D
(c) F (d A
34. Who was the winner in the debate
this year?
(a) B (b) C
(¢ D (d A
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3. DWUaIFe?
(@) A (b) B
(e) E (d C
32. figa ol & Gam am ar ?
(8) A (by B
() D (d) E
33. E slaeiame?
(@ C (b) D
(c) F d) A
M T aefioe @ fom a2 P
(a) B (b) C
(c) D d) A
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(a) 34 (b) 38
(c) 48 (d) 52

Directions : (Qs. 36 to 39) In each of the
following questions an incomplete series of
numbers with one blank is given. identify the
missing number from the given allernalives.

38. 1,8,27,64,7 216
(@) 85 (b) 125
(c) 165 (d) 205

a7. 2,11,38,119,7
(@ 357 (b)) 380
(c) 362 (d) 418

ag. 4, 15,37, 70,7, 169
(@ 103 (b) 106
©) A M7 1y Ad) A4,

39. 29, 54, 103, 200, 393, 7
(a) 586 (b) 490
(c) 678 (dy 778

40. Which pair is different in some way
from others in the following?

(a) Milk — Butter

(b)  Inkpot-— Ink

(c) Sugarcane - Sugar
(d) Coconut-— Qil

41. If 'FAMILY Is coded as 316459 and
'SISTER' is coded as 747820, then

'MYSTERY' will be coded as
(a) go87209 (b) 789209
(c) 6978209 (d) 972809

3 a 4 wh,
(a) 34 (b) 38
(c) 48 (dy 52 2*6

P - (7 36 ¥ 39) Rl wde il A v
sy waw @ gawr @ v &1 Rer W= @
GEETT Y/

37.

38

X}:}

2

1,8, 27,64, 7,216

(a) 85 (b) 125

(c) 185 (d) 205 é_;v
b

2 11, 38, 119, 7 ‘b“"+
(@ 357 (b) 380 9
(c) 362 (d) 418

"~ g"l"
4,15, 37,70, 7, 169 v
(@ 103  (b) 106
(@ 117 (d 14
29, 54, 103, 200, 393, ?
(a) 586  (b) 490 -
(c) 678 (d) 778 Nt
it ¥ 9 @ W S R A S
87
(a) F - %’ »
(b) Faw— W il
(c) 7= A
(d) =fge — te

FAMILY =7 Fs 316459 & 1 SISTER
71 @ 747820 T MYSTERY & @18

am am ?
(a) 6987209 (b) 6789209

() 6978209 (d) 6972809

' r - e P_tﬂ
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42, ITGIALIsc

then FOND
(a)

(b) GGPPMMFF
() GGNNMMFF
(d GGPPNNFF

Directions : (Qs. 43 to 45) Read the
following paragraph to answer questions
that follow :

A and B play Football and Hockey.
C and E play Tennis and Cricket. A and D
ple!y Tennis and Volleyball. B and E play
Cricket. C and E play Volleyball. C and D
pIE_ly Hockey. D and E play Foolball and
Cricket,

43. Who does not play Cricket?

(a) A (b) B
() C (d) . E

44,  Who plays Football, Hockey and
Tennis?
(a) D (b) C
) B (d E

45. Who plays only Tennis, Crickel,
Volleyball and Hockey?
(@) A (by B
(c) C (d DO

Directions : (Qs. 46 to 48) A, B, C, Dand
E have seven balls each. B gives Iwo balls
to E, who gives one ball to A. C gives three
balls to D, who gives two balls to A. E gives
three balls to B, who gives two balls to C.
B gives five balls to D.

46. How many balls does A have?
(@) 5 (b) 6
(e) 10 (d) 13

JJOONN
Wmms
GGPP

(1)

A

42,y 3R GIAL @1 #% HHJJOQONN #
tOCk&nE 6 im |
(a) GGPPMMEE
(b) GGPPMMFF
() GGNNMMFF
(d) GGPPNNFF

em (1 43 W 45) Freafafan e @ @
3R el @ oA § A oF B Gedld [E e dod
%1 C 14 E ¢ g e ot £) A 73 D 2fw
T el @ 1 B W E e @@a 81 C @
Edidd drd §ICWD e det 81D W@
E gedld w3 fde dad €|

@l e T8 domr © ?

43,
(a) A (b) B
CY £ (d) ~E
44, wA gedla, T, 1 P de & ?
(a D (8) C
(c) B (d) E
45 T waE oL fiide, ardee od B
HETmE P
(a A (b) B
cy C (df D

ﬁﬁn[mmﬁaajn.a.c,nqi Ewdes 3
mﬂmﬂﬂamaz‘pﬁaEaﬁﬂmtm‘rwﬁa
Aq{r?a’ﬂrijcmﬂ?ﬁnaﬁmta’lﬁrﬂa
szi&m%iemaﬁaﬂtﬁﬁma,m‘rftﬂa
caﬁﬁéﬁnarerﬁaa‘mnﬁéﬂr?t

48, A @ ura fved dig 2
(@ & (b) 6
) 10 (d) 13
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47. :;rw i “E"*‘ "B¥XamSto ‘?ﬁsﬁ W‘T’

(¢) 1 I:d} 1D (cy 1 ﬂ
48. Who has got the maximum number 48.  TEY A e o fHuad Tm g 7
of balls now?
(@8 A (b) D (a) A (by D
() C (d E {c)y C (d E

Directions (Qs. 43 to 52) There are six 3w (v 40 9 52) T URaR F B wEw, M, N,
members M, N, O, P, Q and R in a family, O,P,Q R # 0,R&A i € N, A 3 5l 7

O is the sister of R, N is the brother-in-law
of R's mother, P is the father of M and R is ii-’;ni 2l PMa o 51 R, Pl oET 8 | TRER

the grandson of P. There are two ladies in A =i At £

the family. © aeV
=
49. Who is the mother of R? 49. RAHdaE? U |
(8 N (by © {a) N by O
) Q (dy P - € Q (@) P \ B

50. The members of the family belong 56  uiew ¥ fe dew & we 87
to how many generations?

(&) Two (a) =&
(b) Three (b) @F
(c) Four (cy =R
(d) Either two or three (d) = ardm
51. The two female members in the 51,  URW A B e W e B
family are _
(a) P.Q (b) N, Q (@ PQ (by N, Q

(c) RO (d 0,Q° () RO (dy 0O,Q

52.  Who is the daughter of M and Q7 5. MTWQ® & Fme’

P () R (a P () R
E:; N (d ©O (cg N d O

2020-92=2%5 Uj:5 |
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Find the missing number. 53. @ W@ E‘Iﬁ

@; #@ %meOCkS @ @

(@) 86 {bJ 83 [aj 86 (b) 83
(e) 120 (d 90 (c) 120 (d) 90

Directions : (Qs. 54 1o 55) In the following  frdwr : (wei 54 @ 55) it wweit o aimf
questions a series is being given, Select from the W e & T R Rl ow e sm &) R
a!tamam'ﬂsﬂ'leommdophonmmlmﬂﬁemiwng T REwt ¥ ¥ s wen wme ARR

figure,
54. 0,7, 26,63, 7215 5. 0,7.26,63, 7215
(@ 104 (b)) 124 (@ @104 (b)) 124
(c) 128 (d) 134 (c) 126 (d) 134
55. 3,16, 42, 81, 133, 7 5. 3,16, 42, 81, 133, ?
(@) 166 (b) 185 (a) 166 (b)y 185
() 198 (d) 208 (€ 198  (d) 208
< r’*’;ﬂ}g S 5:‘5"”" \%
b 1L 1,"5 )" .ﬂ
b v VA S
G
o ! v ¥
\,% S "’»F; - 0\
! - "54’
2\ fm;'
n;.ﬁv L faq}ﬁm NP
- TN %
Tyt P A G
o\'f-&' W
oMo,
SN A
N o
tJ
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&7.

58.

59.

60.

B61.

sec-no@ ExamS tocdesroam ave-v

GENERAL AWARENESS

So far distance from Sun |Is
concerned, Earth is in between

(@) Mercury and Venus
(b) Venus and Mars
(¢) Mars and Jupiter
(d) Mars and Saturn

Which of the following has highest
Atomic Number?

(a) Hassium

(b} Meitnerium
() Darmstadtium
(d) Seaborglum

Under standard condition water
bolls at

(a) 100"F (b)
(c) 212°F (d)

200°F
M2°F

Normally human body lemperalure
is maintained at

(a) 97°C (b) 37°C
€) 57°C (d) 98°C

One gallon is equal 10
(@)  4.546 litres

(b) 5.464 litres

(c) 3.645 litres

(d) 3.5 litres

One nautical mile is equal to
(a) 2012 km

(b) 1.852 km
(c) 1.551 km
(d) 1.644 km

aT.

59.

61.

AR SIS RI

od 7% i A 2d @ ae L g e
At

(a) @@ YH
(b) uw v AT
(c) e vd g
(d) #ma ud of

Prefafte 1 9w RS s ©RS
TR & 7

(a) el

(b) ey

(c) TRwcleT™

(d): Ferataros

o= feesfty & ae e onaes U Idont

2z
(a) 100°F (b) 200°F
() 212F (d) 112°F

LTI AT 99 & ST faen B
27

{a) 97%C  (b)
(c}) 57°C (d)

arc
98°C

g e fert e & WA e ?
(a) 4.546 TR

(b) 5.464 R

(c) 3.645 ¥

(d) 3.5 R

i Aifew fa A Rediey & w e 87
(a) 2.012 e
(b) 1.852 f¥aniee
() 1.551 fbanier
(d) 1.644 fEeiieR
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.' 62.

65.

66.

Who was |h

Eydant
United State

(a) Abraham Lincoln
(b) George Bush

(c) George Washington
(d) Thomas Jefferson

Who was the Prime Minister of
England at the time of India gol
independence?

(@) Winston Churchill

(b) Clement Attlee

(c) Tony Blair

(d) Margaret Thatcher

Who was the First Chalrman of the
Constituent Assembly ol India?
(a) Dr. BabasahabBhim Rao

Ambedkar
(b) Dr. Sachchidananda Sinha

(c) Dr. Rajendra Prasad
(d) Acharya J. B. Kriplani

Capital of Myanmar is
(a) Rangoon

(b) Yangoon

(c) Naypyitaw

(d) Burma

A cell resulling from the fusicn of
Iwo gametes is known as

(a) Blastula

(b) Gastrula

(c) Zygote

(d) Fetus

63.

6.

R I G R B A e
co i) i

(a) fves affa
(b) weibfe el
(c) ot @im

(d) wrRe dw

WY @ WITT T B W aEmEy B o ?

(a) e 9@ WEw HIFWE SdEe

(b) I wiaere R
(c) sieex Wwis o
(d) amard o do FHerE

HOAR B @ Mol BE &7
(@)

(b) =

(c) “MEEr (Naypyitaw)
(d) i

< e & Rew 3 v @i s o
forfor e & o9 @ e £ 9
(a) =g

(b)  Thgam

(c) wigie

(d) wiew

2UIL~Z2=25 Ul 9%
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68,

69.

70.

71.

A

worts el 23 EX AN SHOGK S Qe pr s8>

celebrated on
(a) 2% February
(b) 2™ March
(c) 22™ March
(d) 22" May

National Aquatic Animal of India is
(a) Crocodile

(b) Gangelic dolphin

(c) Gharial

(d) Soft Shall Turlle

What was the theme of World
Environment Day 2018
(a) Water pollution
(b)  Air Pollution
(c) Deforestalion
(d) Beat Plastic Pollution
| )“}
Who has been elected nexl

President of the United Nations in
the lirst week of June 20187

(a) Forelgn Minister ol Honduras
(b) Forelgn Minister of Ecuador
(cy Prime Minister of Honduras

(d)y Prime Minister of Ecuador

The book 'Rajatarangini’ was wrilten
by

(@) A Kashmirl historian

(b) A Bengali Historian

(c) A Tamil Historian

(d) A Kannada Historian

F1EY

68.

7.

(a) 2 wead

(b) 2w

(€@ 22w

(d)y 224§

TE F W e vig 3 E 2
(a) TR

(b) T SR

(c) wfdur

(d) e 39 Tiel PEH

Rreg—waieeer R 2018 @1 fRwg-awg @0
o) 7

(@) = ugmm

(b) =i HEET

(c) wiTen Wi werd

(d) wnftes wgme @ TR G

T 2018 T I Wy B A e
AR TR ?

(a) wigoy @ W
(b) §EER & fEn 5=
(c) ®IEW @ wer =
(d) FEER F W A=

SrarRin) e @ Sad B 6 7
(a) TF @A IRERER
(b) e aE gRERER

() & A ISR
(d) UF TS SOERER

2020-2-2% Upit?
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72,

73.

74.

75,

7B.

nndddEXQMStogkscom.

(@) India

(b) China

(¢) United States of America
(d) Japan

Which one of the following is the 73,

most unsale country in the world as
per ranking of 20187

(8) Singapore
(b) Venezuela
(¢) Afghanistan
(d) Pakistan

The Speaker of Lok Sabhain India 74,

Is elected by the

(@) Members of Lok Sabha

(b) Members of Loksabha and
Rajya Sabha

(c) Council of Minislers

(d) Speakers of State Legislative

Assemblies
_~

Open University is an Uhnivarsih_.- that 75.

imparts education through

(a) Distance mode

(b) Correspondence mode

(c)  Face-to-face interaction in
classrooms

(d) Organization of the open
book examinations

In India, “Education Day” is 76.
Celebrated on the occasion of the
birthday of

(@)  Maulana Abul Kalam Azad
(b)  Dr. Zakir Husain

() Drs. Radhakrishnan
(d) DrBRA. Ambedkar

{161

(a) ¥

(b)

(c) wga wou R
(d) s

2018 W @ SR B9 W W T
SITRT R 8 ?

(@) R

(b) @FIgEEn

(c) ammfEm

(d) orfdmar

ol @ e H P g & 7

(8) & @ wEwTm
(b) T UF o B wew

(c) wbmeg
(d) o0 Ramer & o aegs

gﬂf&mﬁnmﬁrsrm#ﬁmm
£

(@) v Ay R
(b) wEER R

(€} =an % amr-wmy IRURE fip

(d) Gl E B Wy ohE e

;ﬁﬂﬁfﬁﬁmﬂ?ﬁmﬁwm
P ?

() e s o s

(b) e wfw g

(© =W wo e

(d) dﬂaﬂuma‘h@aﬁ o
YNY0-2-9% 47157
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78.

79.

80.

What does thre
imply?

(a) Three languages should be
taught in schools.
Examinations should be
conducted in three
languages.

(c) The study three languages
should be made compulsory
at the senior stage.

Every student should learn
three languages in schools.

(b)

(d)

White Revolution made India seli-
sufficient in

(a) Milk production

(b) Fish Production

(c) Production of food grains
(d) . Green lorests

The name of Montessori is
associated with

(a) Pre-school Education

(b) Special Education

(c) Secondary Education

(d) Primary Education

Acharya Chanakya was a teacher
in the Gurukul located at

(a) Taxila

(b) Nalan da

(¢) Vikramshila
(d) Vaishali

79.

(un

8.

[B).6x6mS tockswaom wmat

(2) Fremea & &1 A A gerg @0

ey
(b) sy ¥ wdew g WiFY

(¢) Wy ww A € A FT T
Hfarl g Wiy

(d) P 3 gotw Rerd @ @ o

e EIRCIIEN
e ity & A R A A e 59
g?
(@) T TRHIEH
(b) el FETEA
(c) 3T 7 g
(d) EIR @S

mui @ R e e e !

(a) W—wae Fom

(b) ey Fnem

(c) wmevs e

(d) sl Ren

s T @ Tege A fee 4 9
.............. # amaften o)

(@) @i

(b) TIET=T

(c)  fosmemiTen

(d) #Eh

2020)=%-2% (pfes,7
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84.

m@ ExamStoc
Sciantific 1e nt means 81.

{a) Temparament to take
decisions on the basis of
reasoning

(b) iInterest in the study the
science

(c)  Ability lo undertake scientific
axperiments

(d)  Ability to speak on scientific
themes

The book 'Discovery of India’ was B2.

written by

(@) M. N. Roy

{b) Mahatma Gandhi
(c) Lala Lajpat Rai
(d) Jawaharlal Nehru

RTE Act 2009 grants Right 1o Free 83.

and Compulsory Education to the
children between

(@) 3-11 years
(b) B-14 years
(e} B-11 years
(d) 3-14 years

District Institutes of Education and B4,

Training (DIET) have been set up
for Improving the quality of

(a) Elementary Education
(b)  Secondary Education
(e)  Primary Education

(d) Pre-School Education

T

Join Us On Telegram -

%ﬁ%%%mma?

(a) @ & W Fvia T B e

(b) fomT @ sy ¥ oy
(c) dsulTa WAl R B AT
(d) Hsifie fawa v Aot @ ER

T B W S [EE @ ...
E|

(a) THoTHD w19

(b)  reren

(€) & e W

(d). vEEERE AEE

R @1 st #fafgE, 2000 e 99 &

aw=il @t qoe v afErd e o i o
=0

(@ 311 9

(b) &—14 o9

() &1 o

(d) 3-14 99

ﬁ‘fﬁﬂﬁfmﬁr&mqﬁnﬁmmm)
1w B R R @ w7

(@) s R

(b) Wi Ry

(€) Wi fiy

(d) Ry fe
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B6.

87.

a8.

B89.

In our Const

and Cumpm Elementary

Educahon Is Included in the Section

(a) Fundamental Rights of
Chizens

(b) Directive Principles of States
Policy

(c) Human Rights
(d) Rights ol Children

Arlicle 51 of the Canstitution of India
lists

(a) Fundamental Rights of
Citizens

(b) Duties ol Cilizens

(c) Rights ol Children

(d) Human Rights

Which ane of the following is lhf;e|

highest civillan award given lo
eminent persons?

(a) Padma Vibhushan
(b) ParamVir Chakra
(¢) Bharat Ratna

(d) MahaVir Chakra

World Day against Child Labour is
celebrated on
(a) 12" June

(b) 22nd July
(¢c) 12" May
(d) 12" April

The number of Chromosomes in the
human body are-

(a) 42 (b) 44

(c) 46 (d) 48

86.

87.

88

89.

(19)

A

xS FRCKS SR v e vt s

mufdE fimn @ oRFR WESH T &7
(@) =fa) & St R

(b) w=a Ay w1 Aus e

(c)  wraTeER
(d) e yfER

#Rem & age S A @
(a) smiEt @ o SRR

(b) R wl Eda

(c) @@ i@

(d). #rEfER

fepsstfrfitner 3t 41 @ 2 Faves ARG YR
wiafen aufderdi @ R s & 7

(a) T T

(b) ool W

(c) wd ¥

(d) HEwR b

farg @ gl faftg Raw @

il -I:!'rl

(@) 12 o
(b) 22 eird

(c) 1278

(d) 12 &EA

Crat e Tl v ) P—
=il €

(a) 42 (by 44

(c) 46 (d) 48
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'80. Which age grou lidren are
Included In * siiKasneT]

1.

92,

Abhiyan'?
(a) 0- 14 years
(b) 6-—14years
() B8-18years
(d) 6-18years

Gandhiji's Champaran Movement'

was for-

(a) The security rights of Harijans

(b) Civil disobedience movement

(c)  Maintaining the unity of Hindu
Society

(d) Solving the problems of
indigo workers

The longest sea shore line is alang
the state of-

(a) Gujarat

(b) Andhra Pradesh
(c) COrissa

(d) Kerala

Who said, “The Principles (Direclive
Principles) should be made the
basis of all the future legislation"?

(a) Pt. Nehru

(b) Dr. B.R. Ambedkar
(¢) Dr. B.N. Rao

(d) Dr. .Zakir Hussain

ng:o

91.

93,

c¥es feormt

S o — L B

|
) u-—Hﬂﬂ' |
E:} §— 14 :

(c) 3-—18
(d) 6— 187

TR o w TR AT i =

ferg o
(a) ©Rom @ TV @ SR
(b) wfdma ES SFRIer
(c) R M 4 @ ¥E@

(d) e woTeN] Tl FHE—HEE

| ___im @ WY WU T4 WG T’

(@) TR
(b)  @mr wew
(c) wERm
(d) v

Rmrt w81 o B Rz Frvs R
Hﬁmﬁﬂﬁ-ﬁﬂfﬂlﬁﬂmmﬂgﬁﬁﬂ

(@) dfEd s

(b)  =io Hoamo sy
(c) < fowo wm

(d) S wnfew R
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A

'g4. We cannot se .. ST B TR T
: because of: ° ES fme#OOﬂﬁgﬁﬁl
(8) Reflection (a) v
(b) Internal reflection (b) siaR® e
(¢) Refraction (c) amaH
(d)  Scattering of light (d) st weET
95.  The disease with high levels of uric 95, a1 i SR 10 Qe APIE) 1 TET
acid in the blood |s characteristic of gl
(@)  Arthritis (a) iem
(b) Rheumatism (b) SR
(c) Gout () s
(d) Rheumatic heart (d) s &d
/ K ¢ %4%
b :
\(172, \ &
LT«
-
—5 » 5
o° ‘bﬂf}
% Va5
™ \a7
9A /.:‘\)
95
"’;
%

=
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v SECTION-V @&V 1

gty amStocKks.
3 S B T |
98. The key to motivation in the 5. @i wHI
classroom is (@) Frra—wr) srafifed @
(a) An interest Inherent In the
subject-matter
(b) The teacher's personality (b) fr “'“;"?'E'Eﬂ e
(c) The emotional climate of the (c) &t TN H M
classroom
(d) The sultabllity of the curricular (d) ST MR @1 ST
experiences
97. According to modern educators, o7,  amgfrm (el @ HPAR AR, B
discipline refers to HAH W B |
(@) Rules affecting conduct of (a) e FEER @) WA B
action BT
(b) A way of promoting (b) Ve (d G SGE B dgm
constructive and positive Tl Th Teimi
behaviour
(©) | Cprtolling the olass by nme () | mb Pripr e R smamed
enfarcing obediencerand "« - ulerel* ety
conformity
d) Curbing of students' SR :
(d) g ents (d) uE & gETER & Je

misbehaviour

18. Social development is essentiall e £y
P entially a 8. = e st B &

matier of
a) Conformi .
(a) S;?:Ln:dt: rtn the demands of (@) Wi arwen AR 1 G FRA
b ) .
O T
(c) The integration of one's ;

Purpaseg with those of social {c] ;HII];T;;—;T%@ [ & s
(d) ;r:’;;weln ment of social

skilg oo eoc ) R B w1 e

I's r g e g - farsy
L .Z.U_.).U ._4) L’*J U/"J.J
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A

| ~ Which of the following Is not a 99, Pl ¥ A o A @ R

: ngj
(a) Attitudes - §2
& amdes 12] ExamSto a{%s ABOM
(c) Growth € RewW
(d) Skills
(d) TR
A rh
100 :: Eachaiﬁ:ligﬁ greatest satisfaction in 100wt ¥ waiRe v @ A8l
(a) Sense of senvice t
sociaty Ice lo the (a) ¥ @ Wity ¥ar
(b)  Sense of contribution to the (b) =i & R # AT @l A
pupil's growth
(€)  Afeeling of love for and by (c) asi @ Wl TRER W
children

(d) v P & w9 i wRver TF &
LRy

(d) Asense of status and power
as a teacher,

101. By which method the students leam 101, Fre BR A o v vfts W 8 7

to the maximum extent? (a) wEH
(a) Be seeing (b) uE®T
(b) By reading (c) Tman
(c) By listening (d) &

(d) By doing themselves
102, e @ o1 o wWaife T6E w

02. Which quality of the teacher is liked :
the most by the students? g7
(a) Punctuality (a) M EEI' T B
(b) Impartiality (b)  fAurn
(c) Love for discipline (c) ORI
(d) W

(d) Dominance

2090-2-25 U7:5%
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X

:.‘.;-- : ' : & @ fom 08
103. What should umhg%‘%m&f%%@mﬁ:? v

maintain the interest of students In
class teaching?

(a)
(b)

(c)
(d)

104. Children with disabiliies must get

mMaximurm use of blackboard
Extensive use of examples
from the practical life
Extensive use of eaching
malerials/aids

Giving ample opportunity to
studenls for discussion/
deliberations

education because-

{a) They are vulnerable

(b) They have special needs

(c) Itis a basic constitutional right

(d) They are poor

105. DBraille is based on-

(a)
(b)
(c)
(d)

106. Learning depends on-

(a)
(b)
(c)
(d)

107. The major purpose of co-curricular

105.

Dols

Lines

Raised

None of the above

106.
Intelligence
Parental attitude

Peer attitude
None of these

activities in a school is to

(a)
(b)
(c)
(d)

Halp students achieve well-
adjusted personality

Provide reliel from the usual
classroom routine

Give students an orientation
to the world of work

Provide for the vicarious

satisfaction of the needs of
students

(24)
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107.

mﬁﬁaﬁaﬁﬂﬂﬁ*ﬁm
g
Rfv=T FER

ane S9ArT
:mfaqq’i$ﬁ-‘mmﬂ‘l'ﬂ*raﬂﬁﬁ

i R &

(a)
(b)

FErE® UoT A
(c}

(d)

Ragrr ged ® 1A R SFEE © i

(@) & s &
Wﬁmm“‘rﬁmﬂmﬁ

a5 e A HaEAe S #
3 77ig B B

B w e w2

wie

AT fiter @ ARG
WETAT HATgh

T W W TE

(b)
(c)
(d)

(d)



108.

108.

110.

The schoel curricy

planned to agree w«,“E')mm &f' O@k.ﬁqxﬁﬁﬂ% T R

(@) The general culture of the
schoal in the past

(b) The goals, purposes and

interesis of the students

(€)  The training and interests of
the teacher

(d) The availablg lextbooks in
various subjects

The teacher's first
the

(a) Community

(b) Students

() Subject he/she teaches
(d) School authorities

duty is towards

T_he major goal in the classroom
discipline should ba to promote

(a) Good study conditions

(b) Good student conduct

(¢) Quiet and order in the
classroom

Self-direction on the part of
students

(d)

In developing @ new lopic or a
lesson, the leacher should begin

with

(a) An overview of the subject
(b) An explanation of the
importance of the subject
(c) Some interesls already
possessed by the sludents
(dy The teacher's own interest

109.

110.

1.

A
¥ ke |
(8) ot % R IR AR
(b) umH A B, wo @ SEiw
(c) Pl & iy d wftwm
(d) R R § aueer ey gE

frrl &1 W St A &)

(a) vgEm
(b) wr=
(c) werl & et fawg

(Ady Roma s sRed

T A A B T Pl [ A
(.
(a)
(b)
(c)

US-UIG & SEd Tmail
Rrenfir = SR smeR
T A T O o

(d) Reniudi % sre—sramem

A frg o amn @ Reltn w0 @ R

Fers @ amm /2 =ity
(@) Rww wabfo s

(b) fwg @ wemw & =mem
(c) Raff o wamnfie wfy
(d) Pe R Aoy
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112.

113.

114.

et [ EreinS 8t

(a) Relate the material to the
chlld’s experience

(b) Organize the content so that
the child can understand it as
such

(c) Plan the lesson
systematically

(d) Explain the lesson giving
examples and full details

When a child asks a question
regarding subject-matter, the
teacher should generally

(a) Give straight answer to satisty
the child's curiosity

(b)  Relerhim to textbook or other
relerences

(c)  Refer the question to another
child for answer

(d) Help the child arrive at his/her
own answer

The crucial aspect of the evaluation

of school learning is

(a) Preparing tests

(b) Judging adequacy of
performance

(c)  Measuring growth

(d)  Assigning grades.

113.

114,

(d) B A e od R R

Rrenffdl g1 Rug-avg & FRON W
o R LR - C O 2

e It
(b) o e e 3 i 3
(c) N = &) aE U SR B A &

(d) =i @ @d 9 & @ foy Hee
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116.

117

118.

5. A good Head”

institution is the o
(a) Uﬂderstandmat

is good
gduce_lllonal Instltl.?tic-n
gdmimstratinn, and applies s

principles wiih a

(b) s Particularly carefy about
discipline and does noy
cnms?rnmlse With miscondyet
or misbehavioyr

(c) s flexible jn histher approach
ar.h:l Works Cocperatively and
with a human touch

(d} Allows freedom to the staff
:and the students and least
interferes in thair alfairs

strong hangd

_In which of the following methods
Is the existing knowledge used lo
draw conclusions?

(a) Inductive reasoning method
(b) . Deductive reasaning method
() Survey method

(d) Discovery method

The crucial aspec!t of sclentific
process is

(a) The problem

(b) The hypothesis

(c) The method

(d) Th resull

ads the numbers
S et
disabllity:
(a) ~Dysorasis
(b) Dyslexla.
(c) Dyspepsid
(d)y Dyscalucla

y- .
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116,

117.

118

A

{5 EvamStoekscamon ws .

e T S

(@) o fwmor vt & wome v g
E@Eﬁﬁﬁﬁﬁﬂﬂ;mm
2|

(b) P srgane & 4R e 2
SEer afi geme & e w6
el £ |

(€) ot gfemm # wdien, seam-fi
s e T e e B o e e

(d) O T wEwit @ we @ T
WIE Tl 6 A g e g g

(TR 2011 & ST i e 7 e
ugfrt ¥ & = IR R ?

(@) seodmE fRaam [
(b) | fsowl RaFT-RR
(g | T TifT

(dy fewal Bf

dgifrm wim e e

(@)
(b)  nlETEr
(c) =M

(d)  nldue i Faemd

T e TR e d=) 3 e A R
BT 2 7

(a) i
(b) e
(c) feeufeny

(d) swdgirea

—

2020-=7=7%) UFi54



i

N
A

118.  Which of lhe Mf-ﬂcmﬁwﬂ Prefeifea % 9 TR

120,

in the sequence of deriving a
cancept?

(a) Abstraction

(b) Differentiation
(¢) Experiancing
(d) Generalization

The respect of the student for the
teacher should stem primarily from
the teacher's

(a) Legal autharity

(b) Status as an adult

(c)  Personal integrity and goodwill
(d) Status as a parent substitute

(28)

120.

(a) wEfE

(b) A

(c) s

(d) FEEIET

fAms @ fg O/ o TEF TP 5 R
M AT B D

(a) TN WEER

(b) waEm @ T A whrer

(c)  aifTd §FET G AR
(d)  wren-firer & wHge Tl

D020 1)/ 254
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